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(1) BRERAEE
7 0. 82,7, AiIAZO. 01442 F TS,
A4 BRRAE:ATAKO. 9%, ARRBEES i1, 1 %8
MANRNE, BRIREEE LI OFHRAERIX DTS ZE TR AR
w7 Hidk R
(7)) &HE---1. 03
(1) #&h--0. 99, dLJuM-—-0. 92, ##E---0. 69, HL 0. 74
(2) Fr#i=k AZ ()
35, 258A BIAERIAEE - 1 3. 5% 34E 7 HH ikt
PEERIORITHR A bhig
HEINPESE « IR - Bk, HI5E - NGB, SRJE, BN, REpEE
EHamiEE, BR¥E, Eipk
P EESE - Rt - CRERZE, UG, P—UE R
(3) Hr#i=kmikEr ()
27, 339 A FIAERHE : 1. 7 %8y

amkAER| BTAZE |s1EmAE BMRAEE| RIHE |ERHE
1R 0.73 0.02 0.14 1~3A8 0. 60 0.04 0.14
2 A 0.71] A 0.02 0.11 TRE164% 4~6H8 0. 64 0.04 0.16
3 A 0.74 0.03 0.13 (2004) 7~9H 0.67 0.03 0.16
4 A 0.74 0.00 0.12 10~12H 0.70 0.03 0.14
5 A 0.77 0.03 0.12 1~3A8 0.73 0.03 0.13
Tk1 7% 68 0.76] A 0.01 0. 09 TRE17% 4~6R8 0.76 0.03 0.12
(2005) 7 A 0.77 0.01 0.10 (2005) 7~9H 0.78 0.02 0.11
8 A 0.78 0.01 0.11 10~12H 0. 81 0.03 0.11
9 A 0.78 0.00 0.10

108 0.79 0.01 0.12 BHRAEE AIEE
118 0.81 0.02 0.10 ERRI14EE (F.Y. 2002) 0.43 0.00
128 0.83 0.02 0.11 154 (F. Y. 2003) 0.53 0.10
TH184% 18 0.82| A 0.01 0.09 FRL16EE (F. Y. 2004) 0.68 0.15
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(2) mhkis o
1 36T A, BIERBILETHRSD & 9 HERE DD,
ILEMRE (15 —34mk) DOERKEFIT6 9 TA,
(3) seddeysk )
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